XYZ2,=99.2, 100.0, 76.07

8, =3[ (x=X) /)
bz bylz/y
=1, b,y =04

X, =0,110,B_ = 1,100
Crar=AS+B1™2

6 OstwaldFarben (o)
von maximalem (m)C,,
linearen Farbenraum (CAE 2 Y)9B
Lichtart P45, Y, 100 Yy=4 S

Name Bereich X, 2, % v A A
R, 572775 6755 4143 316 06023 0.36%4 660 D0
VS 497 775 8735 9495 715 0461 05011574 467
G497 572 2387 5761 711 02694 0.6501 541 541
C! 390 572 35.72 62.66 76,03 02047 0.3592 492 600
B 380497 159 915 7203 0.1638 0,042 467 574
M, 572.497 79.39 4649 72.07 0401 02348 5410541
W)380_775 99.2 100.0 76.07 03503 0.3632 100%

/ 1
/ / .
7 C,
A . 1 Cae2
t t
0 50
Parameter:
Y & Name
Lichtart P45
Y,,~100 Y,=4

N, 380_775396 40 304 03603 0.3632 4%
7, 380_775 1785 180 1369 0.3603 0.3632 18%
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